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1. Find the primitives of:
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2. Find the area bounded by the curve
23 xxy −=  and the x–axis.

3. Complete the following table:
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Hence evaluate ∫ +

4

0 1x

dx
  using 5 function

values of Simpson's Rule.

4. Find the area enclosed between the
parabola xxy 22 +=  and the straight line

xy = .

Find the area of the shaded region.

6. If 86)( −=′′ xxf  and 6)0( =′f , 1)1( =f ,
find ( ).xf

7. The area bounded by the parabola
29 xy −=  and the x–axis is rotated about

the x–axis. Find the volume generated.

8. If 241 xy −= ,

(a) find .
dx

dy

(b) Hence evaluate ∫
−
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.

Calculate the area of the shaded region.

10. Use the substitution 12 += xu  to find

( )∫ + dxxx
321 .

11. By letting 12 += xu , evaluate

∫ +
4

1
12 dxxx .

12. Use the substitution 12 −= ut  to evaluate
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t
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y+x = 2
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